CS 235: Algebraic Algorithms, Spring 2021

Discussion 5
Date: Tuesday, March 23, 2021.

Problem 1. Abelian Groups

(a) Write down the Abelian operation tables for Zs.
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(b} Find the order of the following finite groups: Zeoo

™ Fl 01 LD G

= 1&;0 Aar Cf?ﬂ'(.Ul 600

28 Jwe hdon @ (W)
2 b Sdun U (600)

¢ 600=192.% .51 221 5
5- K =\ 60

108 = 30,60 0, Ko, azp, 500, 349,
H)(, Led. Sfro}-awam 10



Problem 2. Let H; be a subgroup of an abelian group '), and f1; be a subgroup of an
abelian (5. Show that [l x I1; is a subgroup of (7, % (7.
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Problem 3. Let § = Z\{—1} and define a binary operation
Show that S is closed under the *-operation and S forms an
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